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Explam the role of geographical factors towards the development of Ancient Indra
{Answer in 150 words) 10
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What was the difference between Mahatma Gandh and Rabindranath Tagore in their approach towards
aducation and natonalism? (Answer in 150 words) 10
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Bring out the socio-economic effects of the introduction of railvways m different countnes of the world.
(Answer in 150 words) 10
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Discuss the consequence of Chimate change on the food secunty in tropical countries.
(Answer in 130 words) 10
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Why ts the world today confronted with a crisis of avalability of and access to freshwater resources?
(Answer in 150 words) 10
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How are the fjords formed? Why do they constitute some of the most pioturesque areas of the world?
(Answer in 130 words) 10
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Why 15 the South-West Monsoon called “Purana’ (easterly) in Bhojpur Rezion? How has this directional
seasonal wind system mmtuenced the cultured ethos of the ragion? (Answer in 150 words) 10
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Do vou think marnage as a sacrament is loosing #ts value in Modern India?  (Answer in 130 words) 10

. S HE F Feaiar 7 e @ A w82 T wmiEn) (F¥ 150 yre=t o &ifam )

Explain why sueride among voung women 13 increasing 1o Indian society,. (Answer in 150 words ) 10
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Child cuddling 15 now bemng replaced by mobile phones. Dhiscuss its impact on the socialization of children
(Answerin 150 words)10
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What ara the mamn features of Vedic society and religion? Do vou think some of the features are still prevathng
in Indian society? {Answer in 250 words ) 15
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What were the major technological changes introduced during the Sultanate period? How did those
technological changes influence the Indian society? (Answer in 250 words ) 15
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How did the colomial rule affect the tnbals in India and what was the tmbal response to the colomial oppression?
(Answer in 230 words) 15
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Cominent on the resource poientials of the long coastline of India and highlisht the status of natural hazard
preparedness in these areas, {Answer 1n-250 words) 13
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Identify and discuss the factors responstble for diversity ef natural vegetation in India. Assess the sspnificance
of wildlife sanctuanes in ram forest recions of India (Answer in 250 words) 15
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Why did human development fail to kesp pace with economme development in India?
(Answer in 250 words ) 15
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From hemg net food mmporter in 1960, India has emerged as a net foed:-exporter to the world: Provide
fE350ns. {Answer in 250 words) 15
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Dioes urbanization lead to more seprezaton and'or marsmalizanion of the poor in Indian metropolises?
(Answer in 230 words) 15
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Why 12 caste identity in Inchia both flmd and stane? (Answer in 150 words) 15
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Discuss the impact of post-liberal econiomy on ethruc wdentity and communalism  (Answer in 250 words) 15
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